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ECONOMICS HSSCi
SECTION — A (Marks 20)

Time allowed: 25 Minutes

NOTE: Section—A is compulsory. All parts.of this section are to be answered on the question paper itself.
It should be completed in the first 25 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1  Circle the correct option i.e. A/ B/ C / D. Each part carries one mark.

(i)

(ii)

(i)

(iv)

v)

(vi)

{vii)
(wiii)

(ix)

(x)

(i)

(xii)

(xiii)
(xiv)
(xv)
(xvi)
(xvii)
{xviii)
{xix)

(xx)

Naticnal income can be measured by expenditure approach as:

A NNP — Govt subsidies — Indirect taxes

B. NNP + Govt subsides — Indirect taxes

C. NNP — Govt subsidies + Indirect taxes

D. NNP + Govt subsidies — Indirect taxes — business fransfer
Disposable Personal Income (DPI) can be measured as:

A Personal Income + Direct taxes B. Personal Income — Direct taxes

C. Personal Income — Indirect taxes D. Personal Income — Proportional taxes
The living standard of the people of Pakistan can be estimated by its:

A. Gross National Income B. Net National Income

C. National Income D. Per capita Income

Which of the following should be avoided to promote the rate of investment in Pakistan?

A Increase savings B. Protect infant industries

C. Provide hank loans D Increase in Interest rate

What is economic planning?

A Family planning B. Population planning

C. Resource pianning D. Industrial planning

Evolution of money was due to the need for:

A Medium of exchange B Investment

C. Consumption D. Credit

Government securities are a part of which kind of money?

A Metalic money B. Paper money C. Credit money D. Transfer money
Value of money means:

A Stock of money B. Inflation C. Deflation D. Purchasing power of mone

When were the commercial banks nationalized in Pakistan?

A 1st January 1974 B. 1st July 1974

C. 1st January 1975 D. 1st July 1975
Which bank rediscounts bills of exchange?

A. Commercial bank B. Agriculture bank
C. industrial bank D. Central bank

In order to control credit money in a country, the central bank applies:

A Fiscal policy B. Commercial policy
C. Monetary policy D. Agriculture policy
The basic cause of inflation in Pakistan is:

A Labour policy B. Political instability
C. Increase in quantity of money D. Increase in goods supply

Who presented the absolute cost theory of international trade?
A Adim Smith B. David Ricardo C. Eli Heckscher D. Bertil Ohlin
Under comparative cost theory of international trade, cost of production is determined by the reward of:

A. Land, labour, capital and orgamzatlon B. Land, labour and capital

C. Land and labour D. Labour only

Which one of the following is NOT included in balance of payment?

A Expenditure of Embassies B. Expenditure on education in foreign countries
C. Expenditure on tourism D. Expenditure on gross domestic public investme:
Canon of Equity as principle of taxation means:

A Rich and poor are taxed equally B. Rich and poor must sacrifice equally

C. Rich should be taxed more than poor D. None of these
What is the nature of direct taxes in Pakistan?

A. Progressive  B. Proportional C. Regressive D. Non-Proportional
Which item involves largest expenditure of the Government of Pakistan?

A Defence B. Grants C. Debt servicing D. General administratio
What is the rate of Zakat on the output of land irrigated by canals?

A 2.5% B. 5% C. 7.5% D. 8.5%

Which economic system provides a synthesis of materialism and spiritualism?

A Capitalism B. Communism

C. Islamic economic system D. Mixed economic system

For Examiner’s use only:

Total Marks: 20

Marks Obtained:
e 215 1614
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ECONOMICS HSSC-II

82
Time allowed: 2:35 Hours Total Marks Sections B and C: 80
NOTE: Answer any fifteen parts from Section ‘B(a)’ ,one part from Section ‘B(b)’ and any three questions
from Section ‘C’ on the separately provided answer book. Use supplementary answer sheet i.e.
Sheet-B if required. Write your answers neatly and legibly.
Q.2 a Attempt any FIFTEEN parts. The answer to each part should not exceed 3 to 5 lines.
{15 x 3 = 45)
(i) Define the term transfer payments with the help of an example.
(i) What is meant by Net National Product (NNP)? Write briefly.
iit) Write down three reasons of Low per capita income of Pakistan.
(iv) Describe briefly the obstacles to economic development in Pakistan.
v) What is the importance of Economic planning?
{vi) What are the drawbacks of the Barter System? Write briefly.
{vii) Write down the characteristics of good money.
(viii)  Describe briefly “Quantity theory of money”.
(ix) Write down the important functions of commaercial bank.
(x) How is the central bank different from commercial bank? Write briefly.
() What measures do you suggest to Government for controlling inflation in Pakistan?
(xii)  Write down the advantages of credit money.
(xiii)  What are major imports of Pakistan?
(xiv)  Differentiate between balance of trade (BOT) and Balance of Payment (BOP).
{xv) List down the canons of taxation.
(xvi)  Differentiate between direct tax and indirect tax.
(xviiy  What are the different kinds of Budget? Write briefly.
{xviii) Define the term “Zakat".
(xix}  Describe briefly capitalistic economic system.
(xx)  What are the merits of socialistic economic system? Write briefly.
(xxi)  What are the salient features of Islamic economic system? Write briefly.
b. Attempt any ONE part. {(1x5=5)
(i) Describe briefly the importance of human resource in economic development of Pakistan.
(i) Establish the importance of E-Commerce.with reference to banking system of Pakistan.
SECTION — € (Marks 30)
Note: Attempt any THREE questlons. All questions carry equai marks. (3 x 10 =30)
Q.3
Y c
370 250
740 500
Find out: APC, APS, MPC, MPS
Q.4  How does the credit creation take place by the commercial bank? Explain.
Q.5 Describe modern theory of international trade. Explain also the difference between modern theory
of international trade and classical theory of international trade.
Q.6  What are the common characteristics of under developed countries? Explain.
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